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Increased concavity of Lumbar
region is called

(1) Kyphosis

(2) Scoligsis — S type

(3) Lordosis

(4) Scoliosis —~ C type

Match List — I with List — II and’
select the correct answer by using
the codes given below the lists :

List -1 List-II
Lordosis 1. Bowing of the
Thoracis region
Bow legs "2, Forward tilting
_ ’ of the Pelvis
Kyphosis 3. Genu valgum
Knock Knees 4. Genu varum
Codes :
A B C D
@ 2 4 1 3
@ 1 38 2 4
@ 1 2 4 3
4 3 4 1 2

Alcohol as Ergoenic Aids is
(1) Stimulant

(2) Depress Apetité

(8) Depressant
(4) Strength Builder.

Which one of the following:

statement is correct ?

(1) Anabolic steroids increases

. ‘the development of muscle
mass.

(2) The anabolic steroids are
nearly identical to female sex
hormone.

(3) Anabolic steroids - impairs
circulation to extremities.

(4) Anabolic steroids are
generally used as ergogenic
aid for weight control.

Which one of the therapeutic

modalities involves alternating -

cold and superficial heating ?
(1) Contrast therapy

. (2) Whirlpool bath

(3) Cryotherapy
(4). Electrotherapy
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The transfusion of fresh blood from
a person to the athlete comes
under which blood doping ?

(1) Autologous blood doping

(2) Homologous blood doping

(3) Heterologous blood doping

(4) None of these

Match List — I with List — II and
select the correct answer by using
the codes given below the lists :

List-1 List - 1T
A. Contusion 1. Trauma tothe
' Joint

B. Dislocation 2. A Bruise

C. Sprain 3. An injury to
muscle

D. Strain 4. Displacement
of a bone

Codes :

A B C D

1 3 1 4 2

2 4 1 3 2

@ 1 38 4 2

4 2 4 1 3

Which is not a type of pressure
manipulation technique of massage ?
(1) Kneading (2) Petrissage
(3) Percussion (4) Friction

Which one of the following term is
related to ‘Atheletics ? (Track and
field) '

(1) Serve (2) Baton

(3) Spike (4) Dribble

Match List ~ I with List — II and
select the correct answer by using
the codes given below the lists :

List -1 - List-1I
JA. Tiger Woods 1. Volleyball
B. Yorker 2. Golf
C. Bully 3. Hockey
D. Antenna 4. Cricket
Codes: ‘ -

A B C D
P 1 3 4 2
@ 2 4 3 1
@ 4 1 8 -2
4 3 2 1 4
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“Which one of the following is not
correctly matched 7 ‘
(1) Dhanraj Pillai — Football

(2) FIFA ~ Zurich,’
Headquarters Switzerland
(3) Volleyball — William: G.

Morgan
(4) J.C: Bohra — Table Tennis
How much maximum points a

Kabaddi player can fetch in a
gingle raid ?
2 8

L 7
3 9 (4 10

Anchor Leg in a Relay Team is :
(1) FirstLeg (2) SecondLeg
(3) Third Leg (4) Fourth Leg

Decathlon consists of :

(1) 6 Track and 4 Field Events
(2) 4 Track and 6 Field Events
(3) 38 Track and 7 Field Events
(4) 7 Track and 3 Field Events -

What is the meaning of
“Soremade” in Judo ?

(1) To start the Bout

(2) To stop the Bout -

(3) Restart the Bout

(4) Penalty

The word “Love” is associated with
which of the sport given below ?

(1) Golf (2) Football

(3) Tennis (4) Chess

The term “Chinaman”
with which sport ?

(1) Sepak Tekraw

(2) Wushu

(8 Badminton

(4 Cricket

The term “Paddlers” is used to
address which game players ?

(1) Football (2) Boxing

3) Hockey (4) Table Tennis

is related

In Whlch of the following University,
First Khelo-India University games
were conducted ?
(1) Jain University
(2) Lovely Professional University
(3) XIIT University
(4) AMITY University
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| 2s.

~Codes:
- (2) 1A 2-
(4 1 C 2-A,

sports
their:

the

personalities

respective game :
Players

1. Harmanpreet
Kaur

2. Dipa
Karmakar
Deepika
Kumari

4. Sakshi Malik

following
with

. Sports
A, Archery

B. Wrestling -

‘Cricket
Gymnastic

(1) 1-C, 2.D, 3
B, 8-
(3) 1A, 2-B, 3-
3
Which one of the famous Indian
Hockey player has written the
book “The Golden Hat Tr1ck My
Hockey Days” 7
(1) Surjeet Singh (2). Pargat Singh

- (3) Balbir Singh (4) Dhyan Chand

Which one of the following is not
matched correctly.

+ (1) Lady Ratan ~ Hockey
Tata Trophy

(2) Durand Cup - Football

(3) Uber Cup — Cricket

(4) Davis Cup — Tennig

Name the.award given to coaches ‘
for their meritorious work in -
coaching in Rajasthan.

(1) Maharana Pratap

(2) Guru Vashist Award

(3) Eklavya Award

(4) Khel Ratna Award

When was the first Paralympic
Game started ?
(1) 1948 "

: 2 1960
(3) 1976

4 1964

Select the correct sequential order
(from left to right) of the rings of
Olympic Flag.

(1) Blue, Red Yellow, Black, Green
2) Blue, Black Green, Yellow, Red
(3) Blue, Ye]low, Black, Green, Red
4@ Blue, Black, Red, Yellow, Green
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Which of the following is not a
Para-Athlete Arjuna Awardee from
Athletics ?

(1) Devendra Jhanjaria

(2) Pramod Bhagat

(3) Deepa Malik

(4) - Sumit Antis

Which footballer, who played for
India, also captained the Bengal
Cricket team in a Ranji Trophy Final 7
(1) P.K. Banerjee
(2) Neville D’Souza
(8) Chunni Goswami

_(4) Tulsidas Balaram

Number of Gold medals won at the
Birmingham (2022) Commonwealth
Games by India. ‘

(1) 15 (2) 18

(3) 22 @) 17

Which Egyptian Goddess being
called the Goddess of swimming ?
(1) Apollo (2) Zeus

(8) Wadget (4) Palaeolithic
Which one of the following pairs is
not correctly matched ?

(1) Zeus — The Supreme God

(2) Apollo —The God of light
and truth

(3) Poseidon — The God of the sea

(4) Altius — The Olympic Creed

Who of the following established
.the Royal Central Institute of
Gymnastics at Stockholm ?

(1) Franz Nachtegall .

(2) Per Henrik Ling

(8) Friedrich Ludwig John

(4) Martin Luther

Who started Shri Hanuman Vyayam

Prasarak Mandal — Amravati ?
(1) William Brothers

(2) Singh Brothers

(3) Buck Brothers

(4) Vaid Brothers

Who is the founder Prmc:lpal of
Lakshmi Bai National Institute of
Physical Education, Gwalior ?

(1) Prof. Kdran Singh

(2) 'Ajmer Singh

(3) P.M. Joseph

(4) G.D. Sondhi

:
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Who was the founder .of YMCA
(Madras) ?

" (1) Anthony Ashley Cooper

(2) H.C.Buck
(8) Robert Baden Powell
(4) Y.C.James Yen

Which of the following prominent
physical education personnel is
associated with Lakshmi Bai
National Institute of Phy. Edu.,
Gwalior ?

A. Dr.P.M. doseph

B. Dr. Noehren

C. Prof. Ajmer Singh

D. G.D. Sondhi

E. Dr. M.L. Kamlesh

Codes :

(1) A,CandE (20 AandC

3) B,DandE (40 BandD

» When was National Fitness Corps

established ?
(1) 1961 (2) 1963
(3) 1965 (4 1967

. Who classified gymnastics into four

categories ?

(1) Per Henrik Ling

(2) Friedrich Ludwig Jokn

(3) Guts Muths

(4) Adolph Speiss

When had the. Rajasthan State
Sports Council started the first
training camp ?

(1) 1985 (2) 1995
3) 1959 (4) 2018
Kretschmer’s. classification  of

personality was based on which of
the following principles ¢

(1) Personality traits

(2) Physical structures

(3) Biological types

(4) Social participation

. It is the period of drastic changes

from childhood to adulthood :
(1) Pre Natal

(2) Late Childhood

(3) Adolescence

(4) Infancy
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Which one of the following pairs is
not correctly matched ?

State — Transient

. Anxiety Emotional State
Trait —Stable Personality
Anxiety Trait .
Somatic — Bodily Symptoms of .
Anxiety Bodily experience
Cognitive — Activation of the

_ Anxiety Autonomic Nervous

system
Which of the following is mot a
Behavioural Anxiety Symptom ?
(1) Biting F1ngernalls
(2) Fear .
(3) Introversion
(4) Avoidence of eye contact

Which one of the following pairs is
not correctly matched ?
(1) Aggression - Instinct Theory

(2) Group — A sense of mutual
interaction
(3) Stress — Direction of Effort

(4) Cohesion ~ Team Bonding-

Different sections of sports ethics

are :
A.  Trustworthiness
B. Respect

- C. Responsibility
D.” Fairness

Choose the correct code given :
(1) A,Bonly (@) A, Conly
@ ABCD @ ADonly

Which is the top need in the

- Maslow’s hierarchy of neéd in

motivational theory ?

(1) Safefy needs

(2) Self- actuahzatmn

(3) Esteem needs

(4) Belongingness and love needs

Which stage of Human Growth and
Dévelopment is termed as period of
intensive as well as maximum ?

(1) Prenatal (2) Infancy

(3) Childhood (4) Adolescence
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Which is the Aesthstic needs of
Maslow hierarchy needs ?

(1) Appreciation (2) Curiosity
(3) Mastery (4) EKnowledge

It is the sense of his own physical
appearance and personality :

(1) Self Esteem

(2) Body Image

(3) Body Composition

. (4) Stress

Which one of the following is an

-essential ingredient of teaching

method ‘that helps the teacher to
gradually acquire tfricks and trades
while interacting with the students ?
(1) Readiness

(2) Technical Preparation

(3) Presentation Technique

(4) Personal Preparation

. Which of the following is not a

method of league tournament ?

(1) Cyclic (2) Staircase
(3) Tabular (4) Pyramid
Which one of the following

teaching methods involves the
learning process that is completely
dominated by the teacher ?

(1) Demonstration method

(2) Command method

(3) Task method

(4) Reciprocal method

What is the right sequence of skill
lesson plan ?

(1) Assembly,  Main Part,
Introduction, Recreational
Game

(2) Assembly, Introduction, Main »
Part, Lead up Games

(3) Assembly, Main Part, Lead
up Activitx, Introduction

'(4) Introduction, Assembly, Main

Part, Recreational Game

Which one of the following
emphasies on strengthening the
mechanics of skills performance
through drills around the skill ?

(1; Warming up

(2) Assembly _

(3) Lead up Activity

(4) Dispersal of Class
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54.

bb.

56.

67,

58.

59.

60.

61.

(8 16.

Ability

is called

(4) Differentiation Ability

school
and

On which register the
supervisor writes 'reports
suggestion ?

(1) Log Register

(2) Inspection Register

(3) Order Register

(4) Exam Register 4
What is the formula to find the
total number of Matches in double

league ?
1) NN-1) @ N(N—l)/2
(3) N-1 (4 N-1/2

Which is not the technique used in
the public relation process ?

() Radio and TV .(2) Newspaper
(3) Strike (4) Rally

When the number of teams

 entering in knock out tournament

is 19, the number of byes will be
(1) 18 @) 17

- @ 13

The Tabular Method is related to :
(1) EKnock out Competition

(2) League Competition

(8) Challenge Competition

(4) Combination Competition

. Sensory method is used to develop

which motor component?
(1) Balance

(2) Co-ordination

(3) Reaction

(4) Flexibility

Auxo-tonic muscle contraction is
called : '

(1) Dynamic muscle contraction
(2) Static muscle contraction

- (3) Iso-metric muscle contraction

(4) None of these

of a sportsperson fo
maintain equilibrium of the body
in both stamc & dynamic condltlons

(1) Balance Ablhty
(2) Reaction Ability
(8) Orientation Ability
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63.

64.

" Reason (R) :

I~

Macro cycle is the
(1) Smaller Duration cycle of
~ Training

(2) Medium Duration cycle of
Training

(3) Longer
Training

(4) None of these

Performing bodlly movement as

fast as possible is :

(1) Starting speed

(2) Top speed

(3) Acceleration speed

(490 Movement speed

leen below are two statements,

one is labelled as Assertion (A) and

other as Reason (R)

Assertion (A) : The aim of the

competiton perlod is to achieve and

maintain top form.

The top form once

attained can last for longer period

of time.

Codes:

(1) (A)is false but (R) is true

(2) (A)1is true but (R) is false

(3) Both (A) and (R) are true and
18 not the correct

explanation of (A)

Duration cycle of

(4) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

. Match List — I with List — II and

select the correct answer by using
the codes given below the lists :

List -1 List - 1T
A. Isotonic 1. Static muscle
Method contraction
B. Sets 2. Dynamic muscle
contraction
C. Isometric’ 3, Specified number
Method of repetitions
D. Maximum 4. Dynamometer
Strength
Codes:
A B C D
A 2 4 3 1
@ 3 4 1 2
B8 2 3 1 4
4 3 1 4 2
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66. Match List — I with List — II and
select the correct answer by using
the codes given below the lists :

List-1 List - II
A. Repetition 1. Development
method of flexibility
B. Long distance 2. Speed:
interval training development
C. Medium distance 3. Development
iriterval training of anaerobic
7 endurance .
D. Ballistic method 4. Improves
- endurance
capacity
Codes:
A B C D
1 2 4 3 1
2 3 4 1 2
. 1 4 2 '3
4. 3 1 4 2

67. Given below are two .statements,
one is labelled as Assertion (A) and
other as Reason (R) : *T
Assertion (A) : The coach gnides the
instructional and educational process
to the athlete and exerts a significant
influence . on his character and
personality as a whole. . :
Reason (R) : The authority,
effectivenss and success of the coach
to a great extent depends on the
maturity of his personality, his
educational abilities in coaching,
psychology know how, organisational
abilities.

Codes : ,
(1) (A) is true but (R) is false
- (2) (A)1is false but (R)1s true
(8 Both (A) and @®) are
' individually true and (R) is
the-correct explanation of (A)
(4) Both (A) and (R) are false.
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68. mﬁ%ﬁm@mmw 68. Which one of the following is not

9 . the. quality of a good coach ?
T T o .
(1) WWWWW ' | _ (1) ‘Knowledge of tra}ning method
@) ﬁﬂFﬁE%ﬁmﬁﬁT , (g) ~ Concern for the athlete )
q . ' _ ' (8 Disciplined ]
24;‘ g ~ (4) Indecisive
69. Which one of the following pairs is
69. ﬁﬂﬁf@ﬁﬁﬁﬂ?mg‘ﬂgﬁ%ﬁﬁ% ? :not correctly matched ?
(1) =il - folgasRwdy | (1) Cell membrane — Lipidg and
(2 uEiReE  — TdAftaa - Proteins
'2“3) H2 C B Eﬂ'ﬂ#'ﬁﬁ’ - (2) Mitochondrion —ATP
‘ o . - . formation
(@) s - fee (3) Lungs — Respiratory .
70., Frafefem 3 & #F & o 8 ok @ G ;g;tem
o 9 | oronary -Kidney -~
Q- ‘;?I% | A : o artery - -
| 70. Which one of the following are
2) TPRE . ; g
§3) = _ shock pads and flex points ?
o ) . , . ' ‘. (1) Femur
;. @ i e ' . (2) Humerus ‘
71, YRR SE-vuel Aeet e gt (3) Bone Marrow
. TRETER (4) Intervertebral Disks
] 1. TN ' 71. A list of physiological parameters
e : , is given below : :
3.  HifsTH HTSETE 1. Blood Pressure
4 Wmmiz . EJ‘:' 2. Tidal Volume
3?& 1?{ = 3 - S 5 3. Cardiac Output
.. i EE— S , 4. Basa] Metabolic Rate
) s T 2 | Which of these are not, the
(1) 13R2 @ 13k3 cardiovascular parameters ? .
(8) 234 = (4 33IW4 (1) land?2 (2) land3

7. PreffeiddnmakRgem) | O o4 @ dandd
T ST 5 I &0aT qaﬁa HET 72, Which one of the following refers to
39 the body’s ability to perform

. exercise for prolonged duration ?
(1) fﬂﬁ?ﬁ%@i‘{& e

(1) Cardio-respiratory Endurance

@ omEEEEE () Anaerobic Threshold
(3) e & - (8) Anaerobic Capacity
3 G ITpeR Al , - (4) Vascular Capacity |
01 - , - |23 | a
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73.

O QwE»

74.

75.

76,

77.

78.

Match List — I with List — IT and
select the correct answer by using
the codes giveh below the lists :

List - I List-1I
Pituitary Gland 1. Insulin
Pancreas 2. Estrogen
Adrenal - 3. Growth
Medulla Hormone
Ovaries 4. Epinephrine

Codes:

A B C D
H 2 4 3 1
@ 3 1 4 2. ﬁ
@3 2 3 1 4 '
4 4 2 3 1

Which is known as protein factory
of the cell ?

(1) Mitochondria

(2) Centrasome

(3) Ribosome

(4) Lysosome

The total capacity of the alkaline
reserve to counter the effects. of
lactic acid in blood is called.

(1) Phasphogeh Stores

(2) Energy Reserves

(3) Buffer Capacity

(4) ATP-PC system

Vital capacity is measured by :-
(1) Stadiometer

(2) Dynamometer

(83) Manometer

(4) Spirometer

The average life of a Red Blood
Cell is

(1) 80Days (2) 100 Days
3 120Days (4) 140 Days”

The other name for cardiac strlated
muscle is called as

(1) Myocardium

(2) Voluntary muscle

(3) Smooth muscle

(4) Involuntary muscle
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Match List — I with List — IT and

select the correct answer by using

the codes given below the lists :
List-1I List ~IT

Health care 1. Indicators for
resource the provision of
allocation health care
Work 2. Health status
condition indicators
Low birth 3. Social and
weight economic

: indicators of

health.

Quality of 4. Helath  policy
Care indicators
Codes:

A B C D
B 2 4 3 1
@2 3 1 4 2
3 2 3 4 1
4 4 3 2 1

Which one of the following pairs is
not correctly matched ?
(1) Building blocks — Proteins

of the body

(2) Vitamin C -~ Healthy
Immune

‘ ’ System

(83} Vitamin B1 - Thiamine

(4) Haemoglobin  —Magnesium

Excess intake of fat that increases
the chances of heart disease

(1) Saturated fat .

(2 Polyunsaturated fat

(3) Monounsaturated fat

(4) None of these

Which one of the following is
defined as the science of health
and embraces all factors that
contribute to healthful living ?

(1) Public health

(2) . Hygiene

(3) Preventive medicine

(4) Community medicine
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90.

-(8) Tetanus

It is an Inflammatory conditién of
the lungs :
(1) Syphilis (2) Pneumonia
(4) Botulism

Which one of the following refers to
an illiness due to a specific infectious
agent or its toxic products capable of
being  directly or  indirectly
transmitted from inan to man or
from environment through air, soil,
dust, water, food to man ?

(1) Contagious disease

(2) Communicable disease

(3) Pandemic

(49 Epidemic

From which virus Rubella is
spread ?

(1). ParaVirus (2) Mixo Virus
(3) D.N.A.Virugs(4) Toga Virus

Marasmus disease is caused by -

which deficiency ?
(1) Protein ‘
(2). Carbohydrates
(38) Fat

(4) Minerals

Pellagra disease is caused by the
deficiency of which vitamin ?
(1) Riboeflavin (2) Niacin
(3) Thiamin (4) Biotin

Myxoedema disease is caused by
the deficiency of

(1) Hormone * (2) Protem

(3) Minerals (4) Vitamins

Who gave “Play is Life” theory ?
(1) William McDugal

(2) John Dewey

(3) Rousseau

(4) G.T.W. Patrick

Who has- developed the practice
theory of play ?

(1) Johann Heinrich Pestalozzi
(2) Sigmund Freud

(3) .Karl Groos

(4) Lev Vygotsky -
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92,

93.

94.

95.

A,

Which activity includes financial
management ?

(1) Training Schedule

(2) Evaluation

(8) Modification

{4) Guidelines

Which -one of the following is not
the principle of organisation.?

(1) Delegation of power

(2) Proper communiecation

(3) Outstrip the authority

(4) Decentralisation

Land related adventure activities :
(1) Hang gliding

(2) River Rafting

(3) Trekking

(4) Paragliding

Which one of the following is the
classical play theory ?

(1) Psychoanalytic theory

(2) Surplus energy theory

(3) Arousal modulation theory
(4) Cognitive theory

Match List ~ I with List — IT and
select the correct answer by using
the codes given below the lists :

List~1 List - IT
Harness 1. High altitude
Crampons 2. Camping
Trekking 3. Mountaineer-
Backpacking 4. Rock climbing

Codes:
A B C D
() 2 4 3 1 -
@ 3 1 4 2
@ 2 3 4 1
4 4 3 1 2

Definition of yogasans “Sthiram

-Sukham aasanam” is derived from

which book ?

(1) Gheranda Sambhita
(2) Yoga Sutra

(3) Hath Yoga Pradipika
(4) Light on Life
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Frfafea § S aq-Fd TR ?
@ s - (2 W )
() =™ @) =
gt — 1 = =l - 11§ gife hivm
i gfrll % = R TTU % 1 T o

gt -1 - 11
A. arEEs 1. AR
B. WWIs®E- 2. 9&d G5l

C. Afp=® 3. SEIWIR
D. Riged 4. I oA
%2
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@ 3 2 4 1

@ 2 38 1 4

4 4 3 1 2
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97. ‘Morarji Desai National Institute of

Yoga is situated at :
(1) Haridwar (2) Rishikesh
(8) Pune (4) New Delhi

98. What is the number of sﬁtras in
Patanjali Yoga Darshan ?
(1) 108 (2) 190
3 195 (4 199

99. According to Patanjali, number of
Pranayamas are :

1) Four
(8) Eight

(2 Six
(4) Twelve

100. Which of the following "is not
ahtarang yoga ?
(1) Pranayam (2) Dharna
(8) Dhyan (4) Samadhi

101. Which of the following is the
elements of Sat-Karma ?

(1) Vasti (2) Yama
(3) Dhyan (4) Niyama

102. Match List — I with List — II and
select the correct answer by using
the codes given below the lists :

List-1 List - II
A. Tadasan 1. Brahm Nadi
B. Shasankasan 2. Mountain
Pose
C. Yogic chakras 3. Hare Pose
" D. Sidhasana 4. Meditative
Asana
Codes:
A B C D
1 3 4 1 2
2 3 2 4 1
@ 2 3 1 4
4@ 4 3 1 2
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(1) wa=d (2) =™
(3) IERWEE (1) Ty

106. H A T Rym o w8 2
(1) ¥HhpiEH
(8) =R
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108. Which one of these is a part of
Pranayama ?

(1) Purak (2) Apan
3 Ujjai (4) Ayam
104. Which of these asana helps tone

the muscles of the pelvic region ?

(1) Sukhasana
M

(2) Padmasana
(8) Shasankasana
(4) Tadasana

Which of the following is not a part
of niyam ? :

(1) Brahmacharya

(2) Swadhyaya

(8) Iswar Pranidhan

(4). Santosh

105.

106. Which one of these is part of

Relaxative Asana ?
(1) Makrasana
(2) Padmasana
(3) Mayurasana
(4) Sidhasana

107. Choose the incorrect one :
(1) Yama — Self-control
(2) Asanas — Body posture
(3) Pranayama - Control of
prana
(4) Samadhi — Concentration

on an-object

In which Olympics, was the oath
against doping taken for the-first
time ?

(1) Atlanta Olympie
(2) Sydney Olympic
(3) Moscow Olympic
(4) Barcelona Olympie

108.
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109. Which~ ~one

'

110.

111.

112,
“the sum of change in the individual

of the
statement is correct ?
(1) - Cognitive objectives of physical
education is associated with
development of various organs
/ systems of the body.
(2) Acquisition, Analysis, Application
and Eyvaluation of knowledge is
the focus of cognitive objéctives.
Development of  attitude,
appreciation and values are
the main focus of cognitive
objectives of physical
education.
(4) Cognitive objectives focus on the
development of fundamental
gkills and sports skills.

Which one of the

statement.is correct ? )

(1) Endomorph 1is the fatness’
component of the body.

(2) Prominent musculature is the
main feature of endomorphs.

(3) Leanness  component is
prominent in endomorphs,

(4) Large bones covered with
thick muscles are prominent
in endomorphs.

following

following:

Amount of extra oxygen consumed
during the recovery after exercise
is called :

(1) Second wind

(2) Oxygen debt
-(8) Hypoxia

(4) ZKinesthetic sense
Who said — “Physical Education is

caused by experiences centering
motor-activities” ?

‘(1) Oberteuffer (2) Cassidy

(8) J.B.Nash (4). C.L.Brownell

113. Which body type has not been -

given by Krestchmer ?
(1) Pyknic (2) Athletic
(3) Dysplastic (4) Phlegmatic
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117, geft — I 3R g — 11 1 foremr o ok i
< TS R ST ST B TE S :
-1 o -1I
A SRR 1. S0 HiRgwR ek
B. emEE e 2, Kb d dsa
C. e 3. o1 wisTeror
D. s i 4. ya R
= fow e S w1 swEn W w8 I ERT :
(1) A-2, B-1, C-4, D-3
() A-1, B-2, C-3, D4
| 3) A-3, B-1, C-2, D4 |
E @) A-4, B-3, C-1, D-2 |
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114. Match List — 1 with List — II and
select the correct answer by using
the codes given below the lists :

List -1
A. Idealism

B. Pragmatism 2.

C. Realism

1.

3.

List-1II
Religion and
philosophy coexist
Mind is the focus
of a person’s being
Human
experience cause
change in concept

of reality
D. Naturalism 4. The individual is
more important
than society
Codes:
A B € D
1B 3 1 2 4
@ 2 38 4 1
@ 2 3 1 4
4 2 4 1 3
\l115 Who gave the theory of

i Existentialism ?
(1) John Dewey

(2) Plato

”, (3 Kierkegaard, Nietzsche and Sartre

(4) Descartes
. Which one is not a “skill related

fitness” component ?

“ (1) Agility
(3) Balance

(2) Flexibility
(4) Power

117. Match List — I with List — II and
select the correct answer by using

” the below lists :
List—1I List-1II
‘A, Aerobic activity 1.Less than 80 m
sprint
B. Anaerobic 2. Medley in
| activity swimming
C. Flexibility 3. Weight training
D. Strength activity 4. Passive

stretdhmg

“ Select the correct answer using
the codes given below :

(2) A-1, B2,
(3) A-3, B-1,
| 4) A-4, B3,

C-3
C-2,
C-1

() A-2 B-1, C-4, D-3

’

D
D-
D

(ORI

)
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118.

119,

120.

121.

122,

123.

‘@ A

In 1814, the

The system which is not directly
related to physical fitness and its
components are

(1) Skeletal system

(2) Muscular system

(3) Circulatory system
(4) Endocrine system

“Royal Central

Institute of Gymnastics” was
opened by

(1) Franz Nachtegall

(2) Per Henrik Ling

(3) Friedrich John

(4) Baron de Coubertin

In ancient Olympic Games
“Palaestra” was a place, used for
(1) . Priest house

(2) Dressing room of Athletes

(3) Guests were housed

(4) Rehglous area

Who was
conditioned response theory ?

the propounder of

(1) Aristotle (2) Skinner
(3) Pavlov (4) Kohlar
Which one of the following is the

part of tlie personality that is
shaped by the moral standards of

society as transmitted by parents ?

(1) Ego
(2) Superego

(3

(4) Defense mechanism

Which one of the
statement is correct ?

following

(1) Career opportunities in physical

education and sports are
limited by one’s imagination.,

career . decision is
irreversible.

8 A career is a life-long
commitment.

(4) Choosing a career is8 a
decision-making process.
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127,

128.

129,

130.

01

1 BT =IfRe 7
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‘125, Which

124. Which one of the
statement is correct ?
(1) The location of centre of gravity
in the human body helps to
determine the state of
equilibrium at any moment.
The location of the centre of
gravity of any object remains
fixed irrespective of the
change in the shape of the
body. .
The change in centre of
gravity is not influenced by
any change in the position of
the body. .
The location of the centre of
gravity in the mnormal
standing position is not
influenced by age or gender.

one of the following
movement is involved when a body
part moves towards the midline of
the body?

(1) Abduction (2) Adduction
(3) Elevation (4) Dorsiflexion

126. The optimum projection angle of
shot-putter should be ‘
(1) 45°
(2y More than 45°
(8) Lessthan 45°
(4) 60°

127. Who is the father of Kinesiology ?
(1) Socrates (2) Plato
(3) Aristotle (4) Archimedes

128. The lever in which the Fulerum is
located between the weight and the
forceis: .

(1) First Class Lever
(2) Second Class Lever
(3) Third Class Lever
(4) None of these

129. Which is related to ligament injury ?
(1) Strain (2) Sprain
(3) Contusion (4) Abrasion

130. Which deformity occurs due to flat
foot ?- .
(1) Genu valgum

(2) Genu varum

(8) Rigid spine

following

@)

®)

4

(4) Round shoulder
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